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Correct the following sentences :
a) He insisted me to do this.
b) Rabindranathe took his birth in 1961.
c) He is a famous thief.
d) I must take your leave.
e) I came to know by and by.
Fill in the gaps with appropriate preposition.
a) Heprotests ________ me.
b) Ishallabide your decision.
¢) This pen is not identical _________ that.
d) A teacher should have affection _________. to this student.
e) Learnthispoem ________ heart.
From sentences with the following idioms and phrases :
a) Part and parcel
b) In high sprit
c) Callup
d) Condole with
e) Giveup
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F) @ SZOR FRCE TS A 7L | ¥) AMS TR fon-vodiea «if7 |
) (¥ SF TR K OF ©fF | 1) (RED T ATT Y2 | 8) I BIFl (ATF 230
IGESURRERAEACEIECE



